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INSTRUCTIONS TO THE CANDIDATES

Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 ltems. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
thecircle.

Use black/blue point pen to darken the circle.

See the followingiillustration.

Illustration:

1.Thesumof20and 12is

(@)32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

1 | @ ® © @

Half filled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked as incorrect.

The Booklet and OMR Answer Sheet must be handed over
to the Invigilator before the candidate leaves the
Examination Hall. No page(s) should be torn out from the
booklet.

8. Keep OMRAnswer Sheet straight. Do not fold it.

9.

All questions are compulsory, each question carries one
mark and there is NO negative marking.

10.Use of calculator/mobile/ any electronic

item/objection material is NOT permitted.

Controller of Examinations
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SECTION-A

1. The average time required to reach a
storage location in memory and obtain its
contents is called the

a. seek time
b turnaround time
C. access time
d transfer time
2. VGAis
a. Video Graphic Array
b Visual Graphic Array
c. Volatile Graphic Adapter
d Visual Graphics Adapter
3. Which of the following is valid?
a. 1KB = 1024 Bits
b 1MB = 1024 Bits
C. 1GB = 1000MB
d 1TB = 1024 GB
4. EBCDIC stands for
a. Extended Binary Coded Decimal
Interchange Code
b. Extended Bit Code Decimal
Interchange Code
C. Extended Bit Case Decimal
Interchange Code
d. Extended Binary Case Decimal
Interchange Code
5. EPARAM is a/an
a. Personal Computer
b Laptop
C. Super Computer
d | pad
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The operator that cannot be overloaded

in C++is

a. ++ ¢

b.

C. ()

d. ~

The members of a class in C++, by
default, are

a. public

b. protected

c. private

d. mandatory to specify

How many constructor a class can have

d.

No limit

Which of the following operators have
highest precedence?

a.
b.
C.

d.

*

++

+4

&&

strrev() function is defined in
header file.

a.

b.

stdio.h
conio.h
string.h
graphics.h
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Default return type of function is

a. void
b int
C. char
d float

int arr[3]{2][2,=(1,2,3.4,56,7,89,10,11,12};
arr[2][{1][0]4

What is the value of arr[2][1][0]?

a. 5

7

9

11

a o T

Which escape sequence does not have
any specific meaning?

a. \t
b. \n
C. \b
d \c

Who developed C++ language?
a. Ken Thomson

b Bjarne Stroustrup

c. Dennis Ritchie

d James Gosling

In C++, Run Time Polymorphism is
achieved by

a. - friend function
b virtual function
c. operator overloading
d function overloading
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main()

{

int a,b=10,c=10;
a= (b= =c);
cout<<x;

dR N T FT BA? 7.
int x, m, n;

m = 10; B

n=15;

X = ++m + n++;

G2 x=25, m=10, n=15

g x=26, m=11, n=16

T x=27, m=11, n=16

i3] x=27, m=10, n=15
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{

int *ptr, a = 5;

ptr = &a;

*ptr +=1;

printf(“%d,%d”, *ptr , a);

}

D 55

9 5,6

T 6,5

) 6,6

T 9 B |1 ¥RS T8 22 20,
b ADD

9 READ

T LDA

12| CHANGE

What would be the output of the following
program?

main()

{

int a,b=10,c=10;

a= (b= =c);

cout<<x;

}

a. 1

b. 0

c 10

d Error

What will be the values of x, m and n after
the execution of the following statements?

int x, m, n;

m = 10;

n=15;

X = ++m + n++;

x=25, m=10, n=15
x=26, m=11, n=16
x=27, m=11, n=16
x=27, m=10, n=15

oo oo

Pick the odd one out?

a. return
b struct
C. main
d float

Consider the following code
main()

{

int *ptr, a = 5;

ptr = &a;

*ptr +=1;

printf(“%d,%d”, *ptr , a);

}

a. 55

b. 5,6

c 6,5

d 6,6

Which of the following is not a mnemonic?
a. ADD

b. READ

C. LDA

d CHANGE



21.

22.

23.

24.

25.

HTT—Y
IRreex T # fAwfea 89 21.
qrel TSl SR BT Tl ¥&l 8 |
® TsY IoRER
g g IfoReR
T PIp 1 G OITAY
EES 1 G

FHYeR H, TCT AHAR W g1 far 22.

SIGIE
F 9D R
g 10 BT TP
T 1 BT Reb
] 2 B [H
% e ST B 'R &1 & forg SuanT 23.
B 9T |fhe @ A q
ST ST 2|
F QDS
g AWK T
T fUera welly
q RNEAY
24.
UH SlIfdo IR T U SITER B
EJ warferd
g e
T TH g
¥ | gwied
25.

Forg WY ege @ U fewice ds+e A&
T B?

Ed 127.0.0.1

g 255.0.0.0

T 255.255.0.0

° 255.255.255.0

SECTION-B

Register keeps the address of
nextinstruction to be executed in program.

a. Address Register
b. IndexRegister

c. Program Counter
d. Accumulator

In computers, subtraction is generally
carried out by

a. 9'scomplement
b. 10'scomplement
c. 1'scomplement
d. 2'scomplement

The circuit used to store one bit of data is
known as

a. Encoder

b. ORgate
c. FlipFlop
d. Register

ATelevision broadcast is an example of

a. Automatic

b. Simplex
c. Halfduplex
d. Fullduplex

What is the default subnet mask for a class
C network?

a. 127.0.01
b. 255.0.0.0
c. 255.255.0.0

d. 255.255.255.0
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What is the maximum window size in
sliding window protocol used in a computer
network?

a. 4
b. 8
c. 15
d. 16

IPv6 address is

a. 16bits
b. 32bits
c. 64bits
d. 128bits
Baudis?

a. The number of bits transmitted per unit
time

b. The number of byte transmitted per
unittime

c. Therate atwhich the signal changes
d. Noneofabove

Parameter that refers to uneven delay of
data packets in delivery is

a. Jitter

b. Timelessness

c. Accuracy

d. Delivery

Banker's algorithm is used in
deadlock

a. Avoidance
b. Prevention
c. Detection

d. Recovery
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If there are 32 segments, each of size 1Kb,
then the logical address should have :
a. 13bits

b. 14bits
c. 15bits
d. 16bits

How many processes can concurrently
enter into the critical section?

a. 0
b. 2
c. 1
d 3

Which of the following is not a
multithreading model

a. onetoone

b. onetomany
c. manytoone
d. manytomany

Suppose a new process in a system
arrives at an average of 7 processes per
minute and each such process requires an
average of 6 seconds of service time.
Estimate the CPU utilization with one
processor.

a. 60%
b. 70%
c. 80%
d. 42%

Which of these levels deals with the
physical representation of database on the
computer?

a. Externallevel
b. Conceptuallevel
c. Internallevel

d. Noneofthese
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AD
AE
EC
AB
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36.

37.

38.

39.

Number of attributes of a relation termed
as of arelation?

a. Degree

b. Cardinality
c. Tuples

d. Domain

In SQL to rename a column of the table
which of the following used?

a. Alter

b. Update
c. Modify
d. Insert

in SQL, Which of the following character is
used to match substring with any number
of characters?

a. %
b. *
c. ?
d.

Consider a relation R (A, B, C, D E F)
having FDs A B ,CF, EA and ECD. Which
of the following is Key for relation R?

a. AD
b. AE
c. EC
d. AB

Which of the following is not Application
software?

a. Adobe Reader
b. Google Chrome
c. WindowsNT

d. PageMaker
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SECTION-C

Which of the following is not a scalar
quantity?

a. Force

b. Pressure

c. Acceleration
d. Velocity

Light yearis a unit of

a. Time

b. Energy
c. Mass

d. Distance

S| unit of gravitational constant is

a. Nm’kg?
b. Nm’kg?
c. Nm’?

d. Nmkg*

Resistance of a wire is r ohnms. The wire is
stretched to double its length, then its
resistance in ohmsis

a. r2
b. 4r
c. 2r
d. r/4

The diameter of the nucleus of an atom is
of the order of

a. 10°m
b. 10%®m
c. 10"m
d. 10™m
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12.

Kirchhoff's first law deals with the
conservation of

a. Energy °
b. Heat
c. Charge

d. momentum

If the current flowing in a conductor
changes by 1%, then power will change by

a. 1%

b. 2%
c. 10%
d. 100%

Which of the following is an example of
longitudinal waves

a. Gammaray
b. Soundwave
c. X-ray

d. Waterwave

A machine does 2500 J of work in 1 min.
What is the power developed by the
machine?

a. 21W
b. 42W
c. 150W
d. 250W

A force of 100 N is acting on an object of
mass 100 kg. What is the accelerajion
produced init? *

a. 1m/s’

b. 10m/s’

c. 100m/s’
d. 1000 m/s*
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SECTION-D

If A is symmetric matrix and B is a skew
symmetric matrix of same order then A’+B*
isa

a. Symmetric matrix

b. Skew symmetric matrix

c. Unit matrix

d. Noneofthese

In how many different ways can the letters
of the word 'LEADING' be arranged in such
a way that the vowels always come
together?

a. 120
b. 360
c. 720
d. 2160
d
dx (secx)=

a. secx+C
b. tanx+C
C. Ssecx+x

d. cosecxtanx

dx
el
a. xtan(x+1)+C
b. tanl(x +1)+C
c. (x+Dtanlx+C
d. tan~lx+C

55. The number of arbitrary constants in the

particular solution of a differential equation
of third order are:

a. 3
b. 2
c. 1
d O
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The probability of obtaining an even prime
number on a die, when a pair of dice is
rolled is

a. 0 ’
b. 1/3

c. 112

d. 1/36
[x2e*’ds =

1 .3
a. ge" +c

1 .2
b. =e* +c¢
3
1 .3
c. —Z-e" +c

1 .2
d. Ee" +c

Matrices A and B will be inverse of each other

only if

a. AB = BA

b. AB=BA=0
c. AB=0,BA=1
d. AB=BA=1|

The rate of change of area of a circle with
respect to its radiusratr=6 cm is

a. 101t
b. 12
cC. 81

d. 111U

/2 4+43sin x
fO log (4+3 cos x) dx

a. 2
b. 3/4
c. O
d -2




